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General Instructions :
(i)  This question paper contains three parts A, B and C.
(ii) Part A is compulsory for all.

(iii)

There are two parts. Part B — Financial Statement Analysis and Part C -
Computerized Accounting. Attempt only one Part.

(iv) All parts of a question should be attempted at one place.
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67/1/2

aT - %
PART - A
(AT GHT qT St % e araie)

(Accounting for Partnership Firms and Companies)

S fafes 7 T 10 U & 1,00,000 F9AT 397 & [T 3TeR Wi o | iRt e ushe
AT AT

3TeEA W — ¥ 3 7fq ie

e W — T 4 Uid 39T

T AT ST e W — I

95,000 3131 & foTT 3TMART UG U 2T Weft 3TTAZeRT i S9N HT e H AT T | I
3, 9 500 379 T T foRar AT on, STEed AR H PIAR Fel HAT | Tiew 7 3geh!
3afed fohd T 750 379N UX UT 37 T ST I e ART 6 @iy W @ Sew ugy vy
3T 2T ST o Wferd & | STeies WX VT reT off

(=) < 3,80,000

@) ¥ 3,78,000

M ¥ 3,80,250

& 4,00,250

Joy Ltd. issued 1,00,000 equity shares of I 10 each. The amount was payable as
follows :

On application — X 3 per share.
On allotment — ¥ 4 per share.
On 1* and final call — balance

Applications for 95,000 shares were received and shares were allotted to all the
applicants. Sonam to whom 500 shares were allotted failed to pay allotment money
and Gautam paid his entire amount due including the amount due on first and final call
on the 750 shares allotted to him along with allotment. The amount received on

allotment was

(a) ¥ 3,80,000
(b) < 3,78,000
() 3.,80,250
(d) 4,00,250



2. 39N % 8T I I ST | 1

Give the meaning of forfeiture of shares.

3. PUR, g1 d°T T UH BH P GERR F q41 3 : 2 : 2 U § AL ded o |
23 STHeRT, 2015 T IHT 1 ST & T | STkt Tog i [ o o AT H g7 & 90T 6
T % 2,350 I 7 |

T i QR H g9k o0 STavaeh IS Hfafte iy | 1

Kumar, Verma and Naresh were partners in a firm sharing profit & loss in the ratio of
3:2:2. 0n23" January, 2015 Verma died. Verma’s share of profit till the date of his
death was calculated at ¥ 2,350.

Pass necessary journal entry for the same in the books of the firm.

4, Fl, 9 TG IET B BH T & & TGN TeUT B T AT -TaeRor BT @ % A o
Z 12,000 T I IIT T AT | & Bl 3F ART DI T0AT A & 0 T8 qRT EANT B
ST

@) &, T a1 I % Ui el o ST A SRER-aE]

@) &L, T9 q41 I % G @il & A o SRIeR-SRE

() 9 AT I % Gl @il o A1 H SRIeR-aRE

() 9 AT I YAl @il o T H SRIeR-SRE 1

On the retirement of Hari from the firm of ‘Hari, Ram and Sharma’ the balance-sheet
showed a debit balance of ¥ 12,000 in the profit and loss account. For calculating the

amount payable to Hari this balance will be transferred

(a) to the credit of the capital accounts of Hari, Ram and Sharma equally
(b) to the debit of the capital accounts of Hari, Ram and Sharma equally
(c) to the debit of the capital accounts of Ram and Sharma equally

(d) to the credit of the capital accounts of Ram and Sharma equally

67/1/2 3 [P.T.O.



5. H @ AN T UH B H ARER AT 4 : 3 :2: 1 % I § o sed o 1 1-1-2015 &
Wﬁwwéslioﬂma»-%fq‘@* I T 74T WERR SE | T AU @ NiHaw & fow

% 10,000 TE AT FSTHehT @, oAt , IR H Wl X A | 36 g erardret o
Q& H @A = % 1,00,000 H ST | T G | FE Fel BT 2 HAH I h gue H
T T |

A, B, C and D were partners in a firm sharing profits in the ratio of 4 : 3 : 2 : 1. On

1
1-1-2015 they admitted E as a new partner for 10 share in the profits. E brought

% 10,000 for his share of goodwill premium which was correctly recorded in the books
by the accountant. The accountant showed goodwill at ¥ 1,00,000 in the books. Was
the accountant correct in doing so ? Give reason in support of your answer.

6. WTERRI oA % 3T H G I o HEIRRI & He el Sl &
(F) i SR |
@) =R
(M &Y % FIGE % o0 o T 999 & S §
(&) WEERI S W€ Aadr & TR

In the absence of partnership deed the profits of a firm are divided among the partners :

(a) In the ratio of capital

(b) Equally

(¢) Inthe ratio of time devoted for the firm’s business
(d) According to the managerial abilities of the partners

7. ‘3T o Ui A o SACINERT (bRl O SeeAl I SooRd HiTT Tk foTd ATy Sifeae
SUGRT feham ST WhAT © |

State any three purposes other than ‘buy back of shares’ for which securities premium
can be utilized.

8.  1-4-2013 =i <17 a1 fa=/@ 3, adi du1 Use &= § e TR fo=erar i JanTet
ST i A ¥, TEIRRI 1 T A | S A T 80,000 7€ T 50,000 W YSH
TS AT 3 : 2 & 3T | oy died o folT Hend gU | WIRiRR! Torg | USit WX 9% ey
T S HIUEEH | a9 § B F T 7,800 HT AT FHAET |
ST TUFTST W EY F I gT 31-3-2014 H IO g 99 & {oIU ST q= fasr &

A-BT IS @ar daR ST |
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On 1-4-2013 Jay and Vijay, entered into partnership for supplying laboratory
equipments to government schools situated in remote and backward areas. They
contributed capitals of I 80,000 and I 50,000 respectively and agreed to share the
profits in the ratio of 3 : 2. The partnership deed provided that interest on capital shall

be allowed at 9% per annum. During the year the firm earned a profit of ¥ 7,800.

Showing your calculations clearly, prepare ‘Profit and Loss Appropriation Account’ of
Jay and Vijay for the year ended 31-3-2014.

9. Wpey zhvear fafee T 50,00,000 ®i T 10 s & 5,00,000 THAT 39T H faver sitesd
OGSt § USighd € | hEET F 1,00,000 37T I THEST W ST % EH % fow i
foRam | ITT o ST T TR W AT o

3TeeT 9T 36T U — T 3 Ui 3997
TH IqreFT 9T — T 2 Uld 3797
O AT ST I W — T 5 Wl 37T

e 9T 0§ SIS &1 T | @ AT HO ol T, 99 A & 1,000 3T 0 G aen
AT AT I DIeHT, T U & T | STk ST T 80T Y {73 7T 91 g H % T 8
T 37T qUT W& g T S e T |

FHIA EHAH, 1956 1 Gt VI 907 [ & AR 31 TS 1 et & i fqaror |
TWIET | 29 foTT @ral o ey W TR SIS | 3

‘Scooters India Ltd.’ is registered with an authorized capital of I 50,00,000, divided
into 5,00,000 shares of ¥ 10 each. The company issued 1,00,000 shares for
subscriptions to the public at par. The amount was payable as follows :

On application and allotment — ¥ 3 per share.
On 1* call — ¥ 2 per share.
On 2™ and final call — ¥ 5 per share.

The issue was fully subscribed. All calls were made and were duly received except the
2" and final call on 1,000 shares held by Rohan. His shares were forfeited and

afterwards re-issued at < 8 per share as fully paid up.

Present ‘Share Capital’ in the Balance Sheet of the company as per Schedule VI Part I
of the Companies Act, 1956. Also prepare Notes to accounts for the same.

67/1/2 5 [P.T.O.



10. T goa fAfes’, A, S Fuel & HHmar aor s € | e T e wwe %
ARt et & 10 7ial & god St FUS died B HUE T | HEE A e e &
50 AT Bl W SO TE oS TE ekl H AR & 1 i ferar | e 9 T 10 U %
40,000 THAT 3790 T2 T 100 TS & 1,000 9% FOTIAT T FHTH TRN-RE & Sgfepdrett s
% 5,00,000 T 367 I TS TR o [T TR |

MEYTF ST Wfafted! BT | HEr §RT THIST U fhT S Aol ot s 7o ot
TEIH | HIT |

‘Sangam Woollens Ltd.”, Ludhiana, are the manufacturers and exporters of woollen
garments. The company decided to distribute free of cost woollen garments to
10 villages of Lahaul and Spiti District of Himachal Pradesh. The company also
decided to employ 50 young persons from these villages in its newly established
factory. The company issued 40,000 equity shares of ¥ 10 each and 1,000 9%
debentures of ¥ 100 each to the vendors for the purchase of machinery of I 5,00,000.

Pass necessary Journal Entries. Also identify any one value that the company wants to
communicate to the society.

11. o, T o1 A T ®F & AERR 4 97 2 : 2 ;1 % 9 | o aed 4 | ®H
Tiqay 31 AT T 370 T &% Al € | 30 e, 2014 P HEAT 1 @0 & T | GERR!
T % STIAR U G WERR & HOEeh Sl ST Geg i {are ae 9 33 7 -

() o= feafe foeRor & SaR Ost |
(i) 3T gg i {dfT T Tolt W 6% Uiday 0T |

(il) T 1 AT T & T H TN AT {ST9eht 0T el 9 aut & Sad @ & 3R
T H A |

(iv) TTa | 3THT 9T ST TUHT TR 99 o a3 o1 7O & SRIeY St ST |
U=l IR aut & o 9 TR 9

ay Ay

4
2010-2011 30,000
2011-2012 50,000
2012-2013 40,000
2013-2014 60,000

31-3-2014 & HHAT % Gt @ § T 60,000 HT I AT JAT I o i AT q 39
% 10,000 T 3TEIT a1 | 3Tk 30T W =T T 300 T |

3k TSAIERT 3T T e o foTT HTHAT 6l USil @Il &R iy |
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Vikas, Gagan and Momita were partners in a firm sharing profits in the ratio of
2 :2: 1. The firm closes its books on 31" March every year. On 30" September, 2014
Momita died. According to the provisions of partnership deed the legal representatives
of a deceased partner are entitled for the following in the event of his/her death :

(1)  Capital as per the last Balance Sheet.
(1)) Interest on capital at 6% p.a. till the date of her death.

(ii1)) Her share of profit to the date of death calculated on the basis of average profits
of last four years.

(iv) Her share of goodwill to be determined on the basis of three years purchase of
the average profits of last four years. The profits of last four years were :

Year Profit
4
2010-2011 30,000
2011-2012 50,000
2012-2013 40,000
2013-2014 60,000

The balance in Momita’s capital account on 31-3-2014 was I 60,000 and she had
withdrawn 10,000 till the date of her death. Interest on her drawings were ¥ 300.

Prepare Momita’s Capital Account to be presented to her executors.

12. FUR, Tl T HAal U6 FH % GERR & T2 AN WX ded § | F Faqd
TesaTe STq T YUSROT T foaRoT AT & AT 39k TS Y6 | i Sel W & € | 0
TISTH <l Ueie AR, AT T ShiadT SATdaTa 3R W I & | Tl 5T Jaie fohd ST oot
TS ! FadTiaen Tt § seia’! & SR Y SART HY AT 98 @1 € | T 3 3708
o fob o | 3T 9T i Sgr ST, 9 $UR 9T Hiadr § T o | 90 ang S &
fw 1:2: 1 W weald g5 | 39 foiu wd ot @fd & oA w1 % e o a it & eied
TN & T & SR W e T 07 Toran 7o | et ot at 1 g e wehr 3 o

L) qH

4
I 4,00,000
11 4,80,000
11 7,33,000
IV (&) 33,000
\% 2,20,000

(i) Y ! AT I T BN |

(i) FHR, T TAT HiedT o T fOIS ST | IRad= & HROT @ o @i & [T
NEAYTF ST WA HIT | 4
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Kumar, Gupta and Kavita were partners in a firm sharing profits and losses equally.
The firm was engaged in the storage and distribution of canned juice and its godowns
were located at three different places in the city. Each godown was being managed
individually by Kumar, Gupta and Kavita. Because of increase in business activities at
the godown managed by Gupta, he had to devote more time. Gupta demanded that his
share in the profits of the firm be increased, to which Kumar and Kavita agreed. The
new profit sharing ratio was agreed to be 1 : 2 : 1. For this purpose the goodwill of the
firm was valued at two years purchase of the average profits of last five years. The

profits of the last five years were as follows :

Year Profit
L4

I 4,00,000

I 4,80,000

I 7,33,000

IV (Loss) 33,000

\Y% 2,20,000

You are required to :
(1)  Calculate the goodwill of the firm.

(1)) Pass necessary Journal Entry for the treatment of goodwill on change in profit
sharing ratio of Kumar, Gupta and Kavita.

13. 9ra fafaes st 9sit 7 20,00,000 o, ST T 10 T & 2,00,000 FHAT 3191 | forgert
off | AT F 1,00,000 37T 1 FEA foham @& 31-3-2008 T FHIG §T I & foTT wAieT
T 3797 T 2 o7 | S o UEEA F 39k SCURT R TSI I UTe, e, SRt qe aietaer
o Fraid A 1 Fig foran | i ford st eTevaehdl i U A & fod S & T
TeHeh o TH% MR AUSe o HHE FEfeRad i foshed T
(i) 54,000 T 37T FH A |

(i) 9RAE AFd Ud Haid 5 F 0T W 620 S | HOT 12% Wa 99 H S 57 W
U T |

(ili) 9% FOTHH H 10% & Fg R FEA a1 ST |
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Ut faeReat Sl JoTT e o T¥aTd el 7 1-4-2008 3 T 100 T & 6,000 FOTHAT i
10% % S W TR 3 1 MO o/ | 37 0T 61 9e e o i 9 § S
Xk TR ThYAl | BT AT | A, Y, Uree T4 DS 9 o 3 H W R S et SHors
Ht RT F T ot

ay

III
v
\Y

VI

2008-09 F 2013-14 a4t & {70 9% FUTIT GAT 9N HIT |

o

L4
1,00,000
1,00,000
2,00,000
2,00,000

Bharat Ltd. had an authorized capital of ¥ 20,00,000 divided into 2,00,000 equity
shares of ¥ 10 each. The company issued 1,00,000 shares and the dividend paid per

share was < 2 for the year ended 31-3-2008. The management of the company decided

to export its products to the neighbouring countries Nepal, Bhutan, Sri Lanka and

Bangladesh. To meet the requirement of additional funds the financial manager of the

company put up the following three alternatives before its Board of Directors :

(1)  Issue 54,000 equity shares.

(1)) Obtain a loan from Import and Export Bank of India. The loan was available at

12% per annum interest.

(ii1)) To issue 9% Debentures at a discount of 10%.

After comparing the available alternatives the company decided on 1-4-2008 to issue
6,000 9% debentures of ¥ 100 each at a discount of 10%. These debentures were

redeemable in four instalments starting from the end of third year. The amount of

debentures to be redeemed at the end of third, fourth, fifth and sixth year was as

follows :

Year

III
v
\Y

VI

Prepare 9% Debentures Account for the years 2008-09 to 2013-14.

67/1/2

Profit
4
1,00,000
1,00,000
2,00,000
2,00,000
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14. 9, fag dn oTefeq Ush H & WRRR & T2 5 : 3 : 1 % 3ud § o afed o | 2-3-2015
I 3! ®H T faeeT & T | St ok far T aer st b ST et
e T T Il G, UST @I J9T S ST 59 T € | H % olEre | 3 @il § B

T < AT B & | W ARTET Bl GelHT Yk 3 @Il bl T ST

E 1) e Qe ST
T T
faazor faazor
4 4
Tglaan 10,000 | o 0T & TeTT Hrarem 5,000
SRR 25,000 | fof= TR 16,600
T AT JI 40,000 37 foet 3,400
o Y 0T 15,000
fafi= o e 16,000 S - FETET BT foshd
g faet 3,400 Tetaa 6,700
Eeh 0T 15,000 34,400 eTEN 12,500
e (313 TT) 400| EEF @ IO 36,000 55,200
o (TG =) 620 | Se-oRaT T TS Frrar
EORCED] 6,220
1,10,420 1,10,420
faawor T fae ASER faawor qRT fae AEH
4 4 4 4 4 4
- — — — MRS QT 22,000 18,000 10,000
— — - - T 999 2,500 1,500 500
24,500 19,500 10,500 24,500 19,500 10,500
A Tt
M ST
fraem v fraem v
I 3T T 19,500 | gl QAT (SFAT) 34,400
AT WIAT (FEtar sk 55,200 | Sget @ (Taferiad Fam) 400
80,920 80,920
67/1/2 10




Bora, Singh and Ibrahim were partners in a firm sharing profits in the ratio of 5: 3 : 1.
On 2-3-2015 their firm was dissolved. The assets were realized and the liabilities were
paid off. Given below are the Realisation Account, Partners’ Capital Accounts and
Bank Account of the firm. The accountant of the firm left a few amounts unposted in

these accounts. You are required to complete these accounts by posting the correct

amounts.
Dr. Realisation Account Cr.
A
Particulars Am;)unt Particulars m;)unt
To Stock 10,000| By Provision for bad debts 5,000
To Debtors 25,000| By Sundry Creditors 16,600
To Plant and Machinery 40,000| By Bills Payable 3,400
To Bank : By Mortgage Loan 15,000
Sundry Creditors 16,000 By Bank — assets realized :
Bills Payable 3,400 Stock 6,700
Mortgage Loan 15,000 34,400 Debtors 12,500
To Bank (Outstanding repairs) 400 Plant & Machinery 36,000 | 55,200
To Bank (Exp.) 620| By Bank-unrecorded assets
realized 6,220
By —
1,10,420 1,10,420
Dr. Capital Accounts Cr.
Particulars| Bora Singh |Ibrahim | Particulars | Bora Singh | Ibrahim
3 3 3 3 3 3
- - - - By Bal. b/d 22,000{ 18,000{ 10,000
- - - _ |ByGeneral 2,500| 1,500 500
Reserve
24,500 19,500 10,500 24,500 19,500, 10,500
Bank Account
Dr. Cr.
Particulars Am;)unt Particulars Am;)unt
To Bal. b/d 19,500| By Realisation (liabilities) 34,400
To Realisation By Realisation (unrecorded 400
(assets realized) 55,200| liabilities )
By
By —
80,920 80,920
67/1/2 11 [P.T.O.



15.  1-4-2010 T GifeeT T4 T 7 4 : 3 ST | o sfe % 6T U TERRT 518 | 1-4-2012
aﬁwﬁa&ﬁw%% 9T % TTU Ueh 7T WRIRR ST 18 @ 7 Fifee? dem =9 ¥ ¥R

arfemed fRam | 31-3-2013 T IO §U 99 & o0 Qifeel, o1& @ o 3 A= oty ¢ 9
3T T ST fohall | 37 S7e 310 AT i faaR e 1 o fopa | tfafer Ooit

1 S B AT SRR 1-4-2013 F 7 3 S 3 oy g 5w
TEIRR FA=T 518 38 Aifeed qdn 9rs | 7 : 3 % U § sitewfed 6 |

O I

(i)  2012-13 a9 % foIU Hifeet, =6 AT T 1 1 A A |

(i)  UHIT o TEeT W WIee, TR, T T4 YA 1 T4 A ST |

On 1-4-2010 Sahil and Charu entered into partnership for sharing profits in the ratio of

1
4 : 3. They admitted Tanu as a new partner on 1-4-2012 for gth share which she

acquired equally from Sahil and Charu. Sahil, Charu and Tanu earned profits at a
higher rate than the normal rate of return for the year ended 31-3-2013. Therefore, they
decided to expand their business. To meet the requirements of additional capital they

admitted Puneet as a new partner on 1-4-2013 for 7““ share in profits which he

acquired from Sahil and Charu in 7 : 3 ratio.
Calculate :
(1)  New profit sharing ratio of Sahil, Charu and Tanu for the year 2012-13.

(i) New profit sharing ratio of Sahil, Charu, Tanu and Puneet on Puneet’s
admission.

16. “3Md 9 fafee’ = T 10 Uedsh & 80,000 3T o 10 & 1w 3Treiy ST foh | imer
17 TR T 3 off

3EeT 9o e UT — T 2 Ui 3797
TH AT 9T — T 4 Ui 3797
O AT ST AT W — I |

1,00,000 37T % ToTT STMEET U gU | T STEGehT ol SIS STMER T 3797 BT SEA BT
TS T | SmaRAT & W e SAfaRe ARt T FHESE 9O A WS ART § Y &
T | TR, T 2,000 3191 % foIw S1ree foham o, werd JremT 1 ST et T qer 39
3T T QI BYOT Y Tordl AT | SHeh U §Edl T AT A " T | e, N
2,400 37T T 3T TohaT AT o, 5 SO FAT ATTH ATTAT 1 JIA 61 6T | ST Si9m
i ot STe Y forar T | Tt Sted TR T 379N @i ¥ 9 goT e U FTee Y T A |

SURIKT AT & T SHHT ! G&Aehl | STEvT ISHIHT Ufaftedt hiteiw |
reram
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g feafree’ 3 T 10 9% % 1,50,000 FHAT 3797 i T 3 Ui 37T o Wiaw ) Frifad &
% T STag AR fohd | T ST ST 7 HehR  oheAT o

AT W — T 2 Ul 39T
3 W — T 6 Wia 3i9r (itaaw afea)
| a7 A It W - 99

2,00,000 3T o feTT MAGT TTe U AT T TS ol SN STHR U 3790 T 37ee
T AT AT | STERAT o WY W AN AT T FHRSH 3T W 37 ART H HT forar
T | A A 2,000 3791 o foTT STeg foRar o7 3Tee T AT T 6 9T el foRar |
T A 319 500 3790 U TUH TG STH AT 1 A @1 6T | AT AreEn o uvEr
U TAT THF T o 379N T g0T K Toram T | gR07 FoRd T 3R ST 3 12 Wi 319 gul vew
T T S feam T |

ST THIAT o 1T FHEAT St Gl | STEvaeh ST Haftedt Hitew |

‘Amrit Dhara Ltd.” invited applications for issuing 80,000 equity shares of ¥ 10 each.
The amount was payable as follows :

On application and allotment — ¥ 2 per share.

On first call — X 4 per share.

On second and final call — the balance.

Applications for 1,00,000 shares were received. Shares were allotted on pro-rata basis
to all the applicants. Excess money received with applications was adjusted towards
sums due on first call. Manohar who had applied for 2,000 shares failed to pay the first
call and his shares were immediately forfeited. Afterwards second and final call was
made. Mahan who was allotted 2,400 shares failed to pay the second and final call. His

shares were also forfeited. All the forfeited shares were re-issued at I 9 per share as
fully paid up.

Pass necessary Journal Entries in the books of the company for the above transactions.
OR

‘Sulabh Ltd.” invited applications for issuing 1,50,000 equity shares of I 10 each at a
premium of ¥ 3 per share. The amount was payable as follows :

On application — X 2 per share.
On allotment — ¥ 6 per share (including premium)
On first and final call — the balance

Applications for 2,00,000 shares were received and shares were allotted on pro-rata
basis to all the applicants. Excess money received with applications was adjusted
towards sums due on allotment. Suman who had applied for 2,000 shares failed to pay
the allotment and call money. Raman failed to pay first and final call on his 500
shares. Shares of both Suman and Raman were forfeited after the final call was made.
The forfeited shares were re-issued for ¥ 12 per share as fully paid up.

Pass necessary Journal Entries for the above transactions in the books of the company.

67/1/2 13 [P.T.O.



17. <& T7 91 Ush ®H § WERR o a7 3 ;2 % U H o dfed & | 1-4-2014 0 376
Tt foeror =7 uepr 9 o

1-4-2014 WY =T 2T 26T w1 ferfer ferazor
4 4

S 17,000| Thg 6,000
T T 4,000 SR 15,000
FHHART &ATAY(d P 9,000 | Farer 20,000
fereT IaR-FeE i 11,000| T 14,000
Tad TN % fold Trae 2,000 g q&T wo 38,000
i

T 30,000

Rl 20.000 | 50,000

93,000 93,000

T e 1 3 ey s 3 o e e o et 7 e e e e e

(F) e T 20,000 T G & feT q=m T 4,000 U AW F S-S & fow
SR |

(@) W SRR I WS- THAT T4 |
(M T % SR 9o 15,000 @ |

(7))  HHIRI &fayd & T T 6,000 T TH G & |

(3) & qAT EOT % YT Wl b1 GHRISH AR i Ust & STER 9 551 ST | 39 329
% feTT =1e] @I @iet ST |

e e Gl qT WEERT % Ui @I T ST |
SreraT
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W,WWWW@%WQWW;%,%WééwﬁWﬁZﬁﬁ |
1-4-2014 = T 7 STAHTIT YT THAT | TS o TSI TEUT hid THT HH o1 1T Toeror
G Recara o
1-4-2014 Y ATHA, AT qAT == BT (afa faawor
fafi=r o =R 12,600 | 4,100
wiorea ffa 3,000| 3&R 30,000
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Charu and Harsha were partners in a firm sharing profits in the ratio of 3 : 2. On
1-4-2014 their Balance Sheet was as follows :

Balance Sheet of Charu and Harsha as on 1-4-2014

67/1/2

Liabilities Am;’““t Assets Am;’““t
Creditors 17,000| Cash 6,000
General Reserve 4,000| Debtors 15,000
Workmen Compensation Fund 9,000| Investments 20,000
Investment Fluctuation Fund 11,000| Plant 14,000
Provision for bad debts 2,000| Land and Building 38,000
Capitals :
Charu 30,000
Harsha 20,000 50,000
93,000 93,000
15
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On the above date Vaishali was admitted for %™ share in the profits of the firm on the

following terms :

(a) ‘
premium.
(b)  All debtors were considered good.
(c) The market value of investments was I 15,000.
(d)
(e)

Vaishali’s capital by opening current accounts.

There was a liability of ¥ 6,000 for workmen compensation.

Prepare Revaluation Account and Partners’ Capital Accounts.

OR

Vaishali will bring ¥ 20,000 for her capital and I 4,000 for her share of goodwill

Capital accounts of Charu and Harsha are to be adjusted on the basis of

Amit, Balan and Chander were partners in a firm sharing profits in the proportion of

1 1

on the date of Chander’s retirement was as follows :

Balance Sheet of Amit, Balan and Chander as on 1-4-2014

1
73 and I3 respectively. Chander retired on 1-4-2014. The Balance Sheet of the firm

Liabilities Am;““t Assets Am;““t
Sundry Creditors 12,600| Bank 4,100
Provident Fund 3,000| Debtors 30,000
General Reserve 9,000| Less : Provision 1,000 29,000
Capitals : Stock 25,000
Amit 40,000 Investments 10,000
Balan 36,500 Patents 5,000
Chander 20,000 96,500| Machinery 48,000
1,21,100 1,21,100

It was agreed that :

(a) Goodwill will be valued at I 27,000.

(b) Depreciation of 10% was to be provided on machinery.
(c) Patents were to be reduced by 20%.

(d)

(e) Chander took over investments for I 15,800.

®

sharing ratio by opening current accounts.

Liability on account of Provident Fund was estimated at ¥ 2,400.

Amit and Balan decided to adjust their capitals in proportion of their profit

Prepare Revaluation Account and Partners’ Capital Accounts on Chander’s retirement.
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PART - B
(fareitar ferawutt &t faverom)

(Financial Statements Analysis)

18. ffeifEd ® | ®F ¥ @A & Uhg TaTE el & ?
(® ¥ 1,00,000 % FHAT AT 1 A |
@) % 1,75,000 Ft A T 567 |
(M ¥ 3,50,000 % 9% FOTOH T M |
() &% § T A R T 15,000 | 1
Which of the following transactions will not result into flow of cash :
(a) Issue of equity shares of ¥ 1,00,000.
(b) Purchase of machinery of ¥ 1,75,000.
(c) Redemption of 9% debentures T 3,50,000.
(d) Cash deposited into bank T 15,000.

19. ks VAR [GERUT AR X GHT ohl TS & A@Iel 5 I fhd T oT9ier &
AT TrareEr o ST 9T | 3 SHeRT UHT a1 Tal &1 ? HROT Jarey | 1
While preparing the Cash Flow Statement of Alka Ltd. ‘dividend paid’ was shown as

an operating activity by the accountant of the company. Was he correct in doing so ?
Give reason.

20. A HIE, 1956 B et VI 90T 1 % AR 9 78 AT o Rt foeror 0 fo-foem
T TR & ST SRS SR 2
()  wiaygid ditees ==
(i) Sl % 99 9
(il) &% H e Hol
(iv) IRTHA-ATA
(v) HET W< HT

(vi) HFIY FRAI
(vii) ST TTHRT T4
(viii) aTeT 4
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21.

Under which major heads the following items will be placed in the Balance Sheet of a
company as per Schedule VI, Part I of the Companies Act, 1956 ?

(i)  Securities Premium Reserve
(i)
(1ii)
(iv)
v)
(vi)
(vil) Unpaid dividends and

Balances with banks

Term loans from bank
Goods-in-transit

Loans repayable on demand

Computer software

(viii) Vehicles

T fasa S 397 fafee &1 esl-ame i |ied 9ar & | 39 Ty 9l ‘hrE-ael’
Hedl, SRR T ST & | 31 |1, 2014 T TANC gC I § ST T 5 AT I T[T &
AT | 319 IR & SeHIfed ! A 31O |l SHHANET i T 6 T SRR ad a7
9o T | 31 B, 2013 4T 2014 T TET & a9 & [T BT BN JoHTHS ATH-EI
foreror fe TR |

gyt fafies
TS ATH-ET feraur
- | 2012-13 | 2013-14 | FROw %
. 3 3 iz | aRer=

FHEFHAT T 3T 10,00,000/ 15,00,000[ 5,00,000 50
T FHAR! fed = 6.00,000|  7.00,000| 1,00,000]  16.67
g 4,00,000|  8,00,000] 4.00,000 100
=T 25% 1,00,000 2,00,000/ 1,00,000 100
ST TRHEN o™ 3,00,000|  6,00,000( 3,00,000 100
(%) 31 T, 2013 TAT 2014 % (AT I5 A 3T i T0ET BT |

(@) el 3T ST T Ted DT o= 97 feAtHeg MR ST el ¢ |

67/1/2
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The motto of Yash Ltd., an advertising company is ‘Service With Dignity’. Its
management and work force is hard-working, honest and motivated. The net profit of
the company doubled during the year ended 31-3-2014. Encouraged by its
performance company decided to give one month extra salary to all its employees.
Following is the Comparative Statement of Profit and Loss of the company for the
years ended 31* March 2013 and 2014.

Yash Ltd.

Comparative Statements of Profit and Loss.

Absolute
Note | 2012-13 | 2013-14 %
Particulars Change
No. 3 3 s Change
Revenue from operations 10,00,000 15,00,000f 5,00,000 50
Less Employees benefit expenses 6,00,000|  7,00,000| 1,00,000 16.67
Profit before tax 4,00,000|  8,00,000| 4,00,000 100
Tax Rate 25% 1,00,000| 2,00,000| 1,00,000 100
Profit after tax 3,00,000|  6,00,000] 3,00,000 100

(a) Calculate Net Profit Ratio for the years ending 31" March, 2013 and 2014.
(b) Identify any two values which Yash Ltd. is trying to propagate.

o o

22. oA fofaee 9 geted M

AT

q gl ¥ (F) FeeT W U™ 99 (@) T g w07
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FEAT : T gEEr 3 75,00,000; =6 T 3 40,00,000; @0 @A 2 27,00,000;
12% 193 T 80,00,000 TAT 15T, T TS THIET T &8 ¥ o T 14,50,000 |

From the following information related to Naveen Ltd. calculate (a) Return on
Investment and (b) Total Assets to Debt Ratio.

Information : Fixed Assets ¥ 75,00,000; Current Assets I 40,00,000; Current
Liabilities ¥ 27,00,000; 12% Debentures T 80,00,000 and Net Profit before Interest,
Tax and Dividend % 14,50,000.

[P.T.O.
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Following is the Balance Sheet of Thermal Power Ltd. as at 31-3-2014 :

Thermal Power Ltd.

Balance Sheet as at 31-3-2014

Particulars Note | 2013-14 | 2012-13
No. 4 L4
1. EQUITY AND LIABILITIES
(I)  Shareholders Funds
(a) Share Capital 12,00,000| 11,00,000
(b) Reserves and Surplus 1 3,00,000 2,00,000
(2) Non Current Liabilities
Long Term Borrowings 2,40,000 1,70,000
(3) Current Liabilities
(a) Trade Payables 1,79,000 2,04,000
(b)  Short Term Provisions 50,000 77,000
Total 19,69,000| 17,51,000
II. ASSETS
(I) Non-current Assets
(a) Fixed Assets
(i) Tangible 2 10,70,000{  8,50,000
(i1) Intangible 40,000 1,12,000
(2) Current Assets
(a) Current Investments 2,40,000 1,50,000
(b) Inventories 1,29,000 1,21,000
(c) Trade Receivables 1,70,000 1,43,000
(d) Cash and Cash equivalents 3,20,000 3,75,000
Total 19,69,000| 17,51,000
67/1/2 21 [P.T.O.



Notes to Accounts :

S. No. Particulars 2013-14 1 2012-13
4 4
1. [Reserves and Surplus
Surplus (balance in statement of
Profit and Loss) 3,00,000| 2,00,000
2.  [Tangible Assets
Machinery 12,70,000( 10,00,000
Less : Accumulated Depreciation (2,00,000)| (1,50,000)
3.  |Intangible Assets
Goodwill 40,000| 1,12,000

18.

67/1/2

Additional information :

During the year a piece of machinery, costing I 24,000 on which accumulated

depreciation was ¥ 16,000, was sold for I 6,000.

Prepare Cash Flow Statement.

a7
PART - C

(i araie)

(Computerized Accounting)

A THTE. T AT T

(%h)
C)
(M
()

AT SN T JoTrett |

BT SR Tawy FioeaT |

BT MR T HoTTe! |

SR T HRER HT [ |

‘DBMS’ stands for :

(a)
(b)
()
(d)

Dividend Based Management System.
Data Based Management Software.
Data Base Management System.

Divide the Basic Master Software.

22




19.

20.

21.

22.

23.

TS SThiHh IS § ACTd 3 HIS W & S hd! U0l 0 3T F9I TFRT | T Sl & 7
() TS T SR Dl Teh R 569 U {ohaT ST ¢ |
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() ST YOS Sl Sk T o sk § e fohar STt € |

A sequential code refers to a code applied to some document where :

(a) Numbers and letters are assigned in consecutive order.

(b)  Where account heads are assigned to documents.

(c) Special names are given to documents.

(d)  When documents are arranged in sequence of their names.

ST WUeeaT o GRe, e a°T Mu=Ear St [T st gibr 99 ey ¢ 2 il
T HTEAT I GHATST ST STel ol YTl TeH i ¢ |

Why is it necessary to have safety, security and confidentiality features in accounting
software ? Explain any two tools which provide data safety.

SRS TRATH WU & T 319 § 7 qHeMRT |

What is meant by ‘Tailored accounting software’ ? Explain.

TS o o6t §RT U8 3t S aTelt GorT hl THeey |

Explain the information provided by a salary bill.

e ol T A1 HE | S SIS qod KU # Al 39k HRUT g5 STRE 1 AW i gv
3 U | T Y FH TF HH & =RON FH ff Iee1@ I |

Name and explain the error which occurs when there are invalid numeric values in a
formula or function. Also state the steps to correct this error.
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Q. Set No. Marking Scheme 2014-15 Distribution
67/ | 67/ | 67/ Accountancy (055) of marks
YL A2 Delhi — 67/1/2

Expected Answers / Value points
6 1 4 Q. Joy Ltd. Issued..........ccvveennnnieennns allotment was.
1 Mark
Ans. (C)X 3,80,250
5 2 3 Q. Give the......cccovvevveriiiiiiniinieennnnnna. forfeiture of share.
Ans. 1 Mark
Forfeiture of shares means cancellation of shares alloted and treating actually received
amount as forfeited.
[ or any other suitable meaning ]
4 3 2 Q. Kumar, Verma and Naresh................... of the firm.
Ans.
Journal
Date Particulars LF Dr (%) cr ()
2015 Profit & Loss Suspense A/c Dr. 2,350 1 Mark
Jan23 To Verma'’s Capital A/c 2,350
(Verma’s share of profit upto 23" June
2015)
3 4 1 Q. On the retirement...................... Sharma equally.
1 Mark
Ans.
(b) to the debit of the capital accounts of Hari, Ram and Sharma equally.
2 5 6 Q. AB,Cand D.....ccccceeeurenrennrennnee of your answer.
Ans. No, the accountant was not correct. (%2 + %)
Reason: Since the new partner brought his share of goodwill in cash it cannot be shown in =
the books. 1 Mark
1 6 5 Q. In the absence of................... partners.
1 Mark
Ans. (b) Equally
- 7 - Q. State any three......cccccovveeierrieannnnnnee. can be utilized.
Ans. The amount received as securities premium can be used other than ‘buy back of shares’
for the following purposes : (Any three)
e In writing off the preliminary expenses of the company. 1 Mark
e For writing off the expenses, commission or discount allowed on issue of shares or Each
debentures of the company.
e For providing the premium payable on redemption of redeemable preference shares =
or debentures of the company. 3 Marks
e For issuing Bonus Shares.
8 8 8 Q. On 1-4-2013 Jay and Vijay.......ccceeerrreennns year ended 31-3-2014.
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Ans.

In the books of Jay and Vijay
Profit & Loss Appropriation A/c

Dr. For the year ended 31* March 2014 Cr.
Particulars Amount () Particulars Amount ()
To Interest on Capital: By Profit for the year 7,800
Jay’s Capital A/c 7800x8/13=4800
. ) 7,800 @
Vijay’sCapitalA/c7800x5/13=3000
7,800 7,800
Working notes:
Calculation of Interest on Capital:
) (%) 3 marks
a) Interest on Jay’s Capital: 7,200
b) Interest on Vijay’s Capital: 4,500
Total: 11,700
The available profit is ¥ 7,800 since the profit is less than interest, the available profit will be
distributed in the ratio of interest i.e. 7,200:4,500 or 8:5.
- 9 - Q. ‘Scooters India Ltd. .......ccceeeerrrirrennnncceennens for the same.
Ans.
Balance Sheet of Scooters India Ltd.
Asat......cceeeeeeueeee. (As per revised schedule VI)
Particulars Note No. Amount Amount X
Current year Previous year
EQUITY & LIABILITIES
| Shareholder’s funds :
a) Share Capital 1 10,00,000 1
Notes to Accounts :
Particulars T
(1) Share Capital
Authorised Capital :
5,00,000 equity shares of ¥ 10 each 50,00,000 1
Issued Capital
1,00,000 equity shares of ¥ 10 each 10,00,000 %
Subscribed and fully paid
1,00,000 shares of T 10 each 10,00,000 %
=3 Marks
10 | 10 | 10 | Q. ‘Sangam Woollens Ltd. ......ccccccceceeerrannees to the society.
Ans. A)
Books of Sangam Woollens Ltd.
Journal
Date Particulars LF Dr (%) cr (%)
i Machinery A/c Dr. 5,00,000 5,00,000
To Vendors A/c 1
(For purchase of machinery)
ii. Vendors A/c Dr. 5,00,000
To Equity Share Capital A/c 4,00,000
To 9% Debentures A/c 1,00,000 1
(For issue of equity shares and debentures
at par)
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OR
Vendors A/c Dr.
To Equity Share Capital A/c
(For issue of equity shares)

4,00,000

Vendors A/c Dr.
To 9% Debentures A/c
(For issue debentures at par )

1,00,000

(9

4,00,000

©

1,00,000

B) Values which the company wants to communicate to the society: (Any one)

e Fulfilling/ Discharging of social responsibility. 1
e Generation of employment opportunities in rural areas
(OR any other suitable value.) 3 Marks
- 11 | - Q. Vikas, Gagan.......ccccccceeeeeeeene her executors.
Ans.
Dr. Momita’s Capital A/c Cr.
Particulars ,J\ Amount (%) Particulars Amount (%)
To Drawings A/c 10,000 | By Balance b/d 60,000 A
To Interest on drawing 300 | By P/L Suspense A/c 4,500
A/C =
By Interest on Capital 1,800
To Momita’s Executor 83,000 4 Marks
A/c By Vikas Capital A/c 13,500
By Gagan’s Capital A/c 13,500( %
93,300 93,30
Working notes:
i. Calculation of Interest on Capital: 60,000 x 6/100 x 6/12 =% 1,800
ii. Calculation of Momita’s Share of Profit :
=45,000x 1/5x6/12 =% 4,500
iii. Share in Goodwill = 45,000 x 3 x 1/5 = X 27,000
12 | 12 | 12 | Q. Kumar, Gupta and Kavita........cccceerrerencernnannnns Journal entry.
Ans.
i Calculation of Goodwill of the firm
Average Profit = T (4,00,000 + 4,80,000 + 7,33,000 — 33,000 + 2,20,000) / 5 2
=% 3,60,000
Goodwill of the firm = 2 x 3,60,000 = ¥ 7,20,000
Journal
Date Particulars LF Dr (%) cr (%)
Gupta’s Capital A/c Dr. 1,20,000
To Kumar’s Capital A/c 60,000
To Kavita’s Capital A/c 60,000 2
(Adjustment of goodwill among partners
on change in profit sharing ratio)
Old ratio = 1:1:1 =
New Ratio = 1:2:1 4 Marks

Kumar’s Sacrifice=1/3-1/4=1/12
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Gupta’s
Kavita’s

Gain=1/3-2/4=2/12
Sacrifice =1/3-1/4=1/12

Kumar’s sacrifice = 7,20,000 x 1/12 = X 60,000

Gupta’s Gain = 7,20,000 x 2/12 = ¥ 1,20,000
Kavita’s Sacrifice = 7,20,000 x 1/12 = X 60,000
14 | 13 | 15 | Bharat Ltd. .....ccceeerrrreeennnnccceeerenreecennnee. 9% Debentures A/c.
Ans.
Dr. Cr.
9% Debentures A/c
Date Particulars LF | Amount | Date Particulars LF | Amount
&) R)
2009 To Balance c¢/d 6,00,000 | 2008 By Debentures 5,40,000
Mar 31 Apr1l | app &all A/c
By Discount on 60,000 2
issse of
debentures A/c
6,00,000 6,00,000
2010 To Balance c¢/d 6,00,000 | 2009 By Balance b/d 6,00,000 | | 2
Mar 31 Apr 1 \
2011 To Debenture 1,00,000 | 2010 By Balance b/d 6,00,000
Mar31 | holders A/c Apr 1
To Balance c¢/d 5,00,000
6,00,000 6,00,000
2012 To Debenture 1,00,000 | 2011 By Balance b/d 5,00,000
Mar31 | Holder A/c Apr1
To Balance c/d 4,00,000
5,00,000 5,00,000 2
2013 To Debenture 2,00,000 | 2012 By Balance b/d 4,00,000
Mar31 | Holder A/c Apr1
To Balance ¢/d 2,00,000
4,00,000 4,00,000
2014 To Debenture 2,00,000 | 2013 By Balance b/d 2,00,000
Mar31 | holders A/c Apr1 /
2,00,000 2,00,000
6 Marks
Note:
e First two years account is necessary to be correctly prepared and four marks have
to be awarded. However, if an examinee has not prepared last four years account,
stating/ mentioning that amount of debentures to be redeemed is not given in the
question then additional credit of two marks is to be given.
e If an examinee has prepared the last four years account correctly mentioning any
amount then also full credit of two marks is to be given.
15 | 14 | 13 | Q. Bora, Singh and lIbrahim...........cccccceccirrrennnnnneeee. amounts.
Ans.
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Realisation A/c

Particulars Amt () Particulars Amt ()
To Stock 10,000 | By Provision for bad debts 5,000
To Debtors 25,000 | By Sundry Creditors 16,600
To Plant and Machinery 40,000 | By Bills Payable 3,400
To Bank: By Mortgage Loan 15,000
Sundry creditors 16,000 By Bank — assets realised:
Bills Payable 3,400 Stock — 6,700
Mortgage Loan 15,000 34,400 Debtors — 12,500
To Bank (Outstanding repairs) 400 Plant &Machinery- 36,000 55,200
To Bank (Exp.) 620 | By Bank — unrecorded assets
realised 6,220
By Loss Transferred to
Partners’ Capital A/c: 1
Singh 3,000 %
Ibrahim 1,000 - 9,000
1,10,420 1,10,420
Partner’s Capital A/c
Particulars Bora Singh Ibrahim Particulars Bora Singh lbrahim
(%) ) ) ) () ()
To Revalution A/c( 1) 5.000 3,000 1,000 | By Balance b/d 22,000 18,000 10,000 2
By General 2,500 1,500 500
To Bank A/c 19,500 16,500 9,500 Reserve A/c
24,500 19,500 10,500 24,500 19,500 10,500
Dr. Bank A/c Cr.
Particulars Amount (%) Particulars Amount (%) 3
To Bal. b/d 19,500 | By Realisation (liabilities) 34,400
To realisation 55,200 | By Realisation (unrecorded 400
(assets realized) liabilities)
By Realisation A/c 9
To Realisation A/c @ 6,220| || (Expenses)
(unrecorded assets) By Bora’s Capital A/c 19,500 =
By Singh’s Capital A/c 16,500 6 Marks
By Ibrahim’s Capital A/c 9,500
80,920 80,920
13 | 15 | 14 | Q. On 1-4-2010 Sahil......cccceveurerennenee. admission.
Ans.
1. Calculation of New Profit Sharing ratio of Sahil, Charu and Tanu
Sahil’s old share =4/7
Sahil surrender =1/5 x 1/2 = 1/10 in favour of Tanu
Sahil’s new share =4/7-1/10=33/70 @
Charu’s old share = 3/7 3

Charu’s new share=3/7-1/10 =

23/70

Charu surrenders =1/5x 1/2=1/10in fafur of Tanu

Tanu’s share=1/10+ 1/10=2/10
New Profit Sharing ratio among Sahil, Charu and Tanu = 33/70: 23/70: 2/10 or 14/70

= 33:23:14@
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2. Calculation of New Profit Sharing Ratio of Sahil, Charu, Tanu and Puneet

Sahil’s old share = 33/70
Sahil surrenders in favour of Puneet =1/7 x 7/10=7/70
So, Sahil’s new share =33/70-7/70 = 26/70

Charu’s old share = 23/70 3
Charu surrenders in favour of Puneet = 1/7 x 3/10 = 3/70
Charu’s new share = 23/70 - 3/70 = 20/70@
Tanu’s new share = 14/70
Puneet’s new share = 1/7 or 10/70@
New Profit Sharing ratio among partners = 26/70:20/70:14/70:10/70 6 Marks
= 26:20;14:10
=13:10:7:5 1
16 Q. Amrit Dhara Ltd.........ccooeerninnniirinnnnns transactions.
Ans.
Books of Amrit Dhara Ltd.
Journal
Date Particulars LF | Dr.Amt Cr. Amt
) )
i Bank A/c Dr. 2,00,000
To Equity Share Application & Allotment A/c 2,00,000 A
(For application money received on 1,00,000
shares)
ii. Equity Share Application & Allotment A/c  Dr. 2,00,000
To Equity Share Capital A/c 1,60,000 1
To Calls in Advance A/c 40,000
(For equity share allotment made)
iii. Equity Share first call A/c Dr. 3,20,000
To Equity Share Capital A/c 3,20,000 %
(For first call money due)
iv. Bank A/c Dr. 2,74,400
Calls in advance A/c Dr. 40,000 1
To Equity share first call a/c 3,14,400
(For first call money received except on 1600
shares)
OR
Bank A/c Dr. 2,74,400
Calls in arrears A/c Dr. 5,600
Calls in advance A/c Dr. 40,000
To Equity Share First Call A/c 3,20,000
(For first call money received except on 1600
shares and the advance adjusted)
V. Equity Share Capital A/c Dr. 9,600
To Share Forfeiture A/c 4,000 1
To Equity Share first call /Calls in arrears A/c 5,600
(For 1600 shares forfeited)
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Vi.

Equity Share second and final call A/c Dr.
To Equity Share Capital A/c

(For second and final call money due on 78400

shares)

3,13,600

3,13,600

Vii.

Bank A/c Dr.
To Equity share second and final call a/c
(For second and final call money received
except on 2400 shares)
OR

Bank A/c Dr.
Calls in arrears A/c Dr.

To Equity share second and final call A/c
(For second and final call money received
except on 2400 shares)

3,04,000

3,04,000
9,600

3,04,000

3,13,600

viii.

Equity Share Capital A/c Dr.

To Share Forfeiture A/c

To Equity Share second and final call /Calls
in arrears A/c
(For 2400 shares forfeited)

24,000

14,400
9,600

Bank A/c Dr.
Share forfeiture A/c Dr.

To Equity Share Capital A/c
(For shares reissued for 9 per share fully paid
up)

36,000
4,000

40,000

Share forfeiture A/c Dr.
To Capital reserve A/c

(For forfeiture balance transferred to capital

reserve)

14,400

14,400

%

%

8 Marks

16
OR

Q. Sulabh Ltd........ccceeeeeeeecceiirrrreeeeeeneee. Company.

Ans.

Books of Sulabh Ltd.

Journal

Date

Particulars

LF

Dr. Amt
()

Cr. Amt (X
)

Bank A/c Dr.

To Equity Share Application A/c
(For application money received on 2,00,000
shares)

4,00,000

4,00,000

Equity Share Application A/c Dr.

To Equity Share Capital A/c
To Equity Share allotment A/c
(For equity share allotment made)

4,00,000

3,00,000
1,00,000

Equity Share allotment A/c Dr.
To Equity Share Capital A/c
To Securities premium/ Securities premium
reserve A/c
(For allotment money due)

9,00,000

4,50,000
4,50,000

%
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Bank A/c Dr.
To Equity share allotment a/c
(For allotment money received except on 1500
shares)
OR

Bank A/c Dr.
Calls in arrears A/c Dr.

To Equity Share Allotment A/c
(For allotment money received except on 1500
shares and the advance adjusted)

7,92,000

7,92,000
8,000

7,92,000

8,00,000

Equity Share first and final call A/c Dr.
To Equity Share Capital A/c

(For first and final call money due on 150000

shares)

7,50,000

7,50,000

vi.

Bank A/c Dr.
To Equity share first and final call a/c
(For first and final call money received except
on 2000 shares)
OR

Bank A/c Dr.
Calls in arrears A/c Dr.

To Equity share first and final call A/c
(For first and final call money received except
on 2000 shares)

7,40,000

7,40,000
10,000

7,40,000

7,50,000

Vii.

Equity Share Capital A/c Dr.

Securities Premium/Securities Premium
Reserve A/c Dr.
To Share Forfeiture A/c
To Equity share allotment A/c
To Equity Share first and final call
(For 2000 shares forfeited)
OR

Equity Share Capital A/c Dr.

Securities Premium/Securities Premium
Reserve A/c Dr.
To Share Forfeiture A/c
To Calls in arrears A/c
(For 2000 shares forfeited)

20,000

4,500

20,000

4,500

6,500
8,000
10,000

6,500
18,000

viii.

Bank A/c Dr.

To Equity Share Capital A/c

To Securities Premium/Securities Premium
Reserve A/c
(For shares reissued for ¥12 per share fully

paid up)

24,000

20,000
4,000

Share forfeiture A/c Dr.
To capital reserve A/c

(For forfeiture balance transferred to capital
reserve)

6,500

6,500

%

8 Marks

17

17

17

Q. Charu and Harsha..........ccceevevunnnnn. Capital Accounts.
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Ans.
Revaluation A/c
Dr Cr
Particulars Amt () Particulars Amt (%) L
To Profit transferred to By Provision for Bad Debts 2,000 :1>
Partner’s Capital A/c A/c )
Charu 1,200
Harsha 800 9 2,000
2 Marks
2,000 2,000
Partner’s Capital A/c
Particulars Charu Harsha | Vaishali Particulars Charu | Harsha | Vaishali
(%) (%) (%) | @ | Q)
To Current 5,400 3,600 ___ | ByBalance b/d 30,000 20,000
A/cs @
By General Reserve 2,400 1,600
To Balance ¢/d :>36,000 24,000 20,000 A/c
%
o | 20,000
By Cash A/c
By premium for 2,400 1,600 o :])
goodwill A/c
By Revaluation A/c 1,200 800 — :1/;
By Workmen
. 1,800 1,200 6
Compensation 1 Marks
Fund
By Investment 3,600 2,400 —\1
fluctuation fund =
41,400 | 27,600 | 20,000 41,400 | 27,600 | 20,000 | 8 Marks
17 | 17 | 17 | Q. Amit, Balan and Chander........cccccevrurrrunnen. retirement.
OR | OR | OR | Ans.
Revaluation A/c
Dr Cr
Particulars Amt (%) Particulars Amt (%)
To Machinery A/c @ 4,800 | By Provident Fu@’-\/c @ 600
To Patents A/c @ By Investments 5,800
To Profit transferred to 1,000
Partner’s Capital A/c
Amit 300
Balan 200 3 Marks
Chander 100
@ 600
6,400 6,400
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Partner’s Capital A/c

Particulars Amit Balan | Chander Particulars Amit Balan Chander
) ) ) ) ) )
To Chander’s (" 2,700 1,800 ___ | ByBalance b/d 40,000 36,500 | 20,000
Capital A/c 2
By General Y
To Investmen — — 15,800 Reserve A/c 4,500 3,000 1,500 2
A/c Y
By Amit’s Capital 5 Marks
To Chander’s @ 10.300 | A/c T T 2,700 ( 1
— — ’ ’ 2
Loan A/c
By Balan’s Capital _ _
To Balan’s A/c 1,800 { 14
Current A/C @ 5,900
By Revaluation
To Balance ¢/d A/c 300 200 100 %) -
3,) 48,000 | 32,000
) 8 Marks
By Amit’s Current 5,900 ( 1
A/c ' y
50,700 | 39,700 26,100 50,700 | 39,700 | 26,100
PART B
(Financial Statements Analysis)
- 18 | - Q. Which....cceeueecieerrireeeeccceneeeeenes bank.
Ans.
(d) Cash deposited into bank T 15,000. 1 Mark
- 19 | - Q. While preparing.......cccccceeeeeennnceeennns reason.
Ans.
No, he is not correct. Y
Reason: As it is a financing activity because these are not the principal revenue producing %
activities. =
1 Mark
- 20 | - Q. Under which.......ccccevvvrmueiiiccnnnneens Vehicles.
Ans.
S.No. Items Major Heads
1 Securities Premium Reserve Shareholders’ funds
2 Balances with banks Current assets
3 Term loans from bank Non current liabilities % X8
4 Goods-in-transit Current assets =
5 Loans provided repayable on demand Current liabilities 4 Marks
6 Computer software Non current assets
7 Unpaid dividends Current liabilities
8 Vehicles Non current assets
22 |21 | 22 | Q. The MOtto..ccccerieenecciirnncirirnncennenanees to propagate.
Ans.
a) Net Profit Ratio = Net Profit after tax / Revenue from operations x 100 @
As on 31-03-2013 = 3,00,000 / 10,00,000 x 100 @
=30% 2 Marks
As on 31-03-2014 = 6,00,000 / 15,00,000 x 100 @
=40%
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b) Values: (Any two)
e Participation of Employees in excess profits.
e Treating employees a part of the company.
e Ethical practices of company

e Hardwork and honesty of employees. 2 Marks
e Serving the organisation with dignity.
(Or any other suitable value)
Note: For Hindi medium students only : =
If in place of values, an examinee has mentioned any profitability ratios, 4 Marks
full credit needs to be given .
21 |22 |21 | Q.Fromthe....ciirieeccrieeeccceeeecenes Tax and Dividend.
Ans.
a) Return on Investment
= Net Profit before Interest, tax and Dividend / Capital Employed x 100 @
Net Profit before Interest, tax and Dividend = ¥ 14,50,000
2 Marks
Capital Employed = Fixed Assets+ Current Assets — Current Liabilities
=% 75,00,000 + % 40,00,000 — X 27,00,000 = X 88,00,000@
Return on Investment = X 14,50,000 / X 88,00,000 x 100
=16.47% @
b) Total Assets to Debt Ratio = Total Assets / Long term debt @
Total Assets = Fixed Assets + Current Assets = 75,00,000 + 40,00,000 =X 1,15,00,000 2 Marks
Long term Debt = 12% Debentures = X 80,00,000
Total Assets to Debt Ratio = 1,15,00,000 / 80,00,000
=1.44:1 =
4 Marks
23 | 23 | 23 | Q. Prepare a Cash flow Statement ............... 31-3-2013 and 31-3-2012.
Ans.
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Cash flow statement of Thermal Power Ltd.

For the year ended 31* March 2014 as per AS-3 (Revised)

Particulars Details (%) Amount ()
Cash Flows from Operating Activities:
Net Profit before tax & extraordinary items 1,00,000
Add: Non cash and non-operating charges
Goodwill written off 72,000
Depreciation on machinery 66,000
Loss on sale of machinery 2,000
Operating_ profit before working capital changes 2,40,000
Less: Increase in Current Assets
Increase in trade receivables (27,000)
Increase in inventories (8,000)
Less: Decrease in Current Liabilities
Decrease in trade payables (25,000)
Decrease in short term provisions (l) (27,000)
Cash generated from Operating Activities 1,53,000 1,53,000
Cash flows from Investing Activities :
Purchase of machinery (2,94,000)
Sale of machinery 6,000
Cash used in investing activities (2,88,000) (2,88,000)
Cash flows from Financing Activities:
Issue of share capital 1,00,000
Money raised from borrowings 70,000
Cash from financing activities 1,70,000 1,70,000
Net increase in cash & cash equivalents
Add: Opening balance of cash & cash equivalents: 35,000
Current Investments  (ll) 1,50,000
Cash & cash equivalents 3,75,000
5,25,000
Closing Balance of cash & cash equivalents:
Current Investments () 2,40,000
Cash & cash equivalents 3,20,000 5,60,000
Working Notes:
Machinery A/c.
Particulars T Particulars T
To Balance b/d 10,00,000 | By Bank A/c 6,000
To Bank A/c (Bal. Figure) 2,94,000 | By Accumulated Depreciation 16,000
By Loss on sale of machinery 2,000
By Balance c/d 12,70,000
12,94,000 12,94,000
Accumulated Depreciation A/c
Particulars T Particulars T
To Machinery A/c 16,000 | By Balance b/d 1,50,000
To balance ¢/d 2,00,000 | By Depreciation a/c (Bal fig.) 66,000
2,16,000 2,16,000

%

%

6 Marks
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Notes:
(1) If short term provision is not treated as current liabilities by an examinee:
Decrease in short term provisions will not be shown.

1. |If short term provision is treated as provision for doubtful debts.

e Operating profit before working capital changes will be ¥ 2,13,000.

e There is no change in the cashflow from the three activities and full credit is
to be given for this treatment also.

2. |If short term provision is treated as provision for tax:
Net profit before tax and extraordinary items will be ¥ 1,50,000.

e Operating profit before working capital changes will be ¥ 2,90,000.

e Cash generated from operations before tax will be ¥ 2,30,000

e Tax paid off ¥ 77,000 will be deducted for calculating cash from operating
activities.

e There is no change in the cash flow from the three activities and full credit is
to be given for this treatment.

3. If short term provision is treated as proposed dividend:

e Net profit before tax and extraordinary items will be ¥ 1,50,000.
e Cash from operating activities will be ¥ 2,30,000

e Cash used in investing activity will remain same i.e. ¥ (2,88,000)
e Cash from financing activity will be ¥ 93,000

(1) If current investment is treated as current asset by an examinee:
Increase in current investment ¥ 90,000 will be deducted from operating
profit before working capital changes. Opening and closing balance of cash &
cash equivalents will be ¥3,75,000 and ¥ 3,20,000 respectively.

1. If Short term provision is treated as current liability:
Operating profit before working capital changes will be T 2,40,000.

e Cash from operating activities will be ¥ 63,000.

e Cash used in investing activity will remain same i.e. ¥ (2,88,000) and cash
from financing activity will also remain same i.e. ¥ 1,70,000.

e Net decrease in cash and cash equivalents will be T (55,000).

2. When short term provision is treated as proposed dividend:

Net profit before tax and extraordinary items will be X 1,50,000.
e Operating profit before working capital changes will be ¥ 2,90,000
e Cash from operating activities will be ¥ 1,40,000
e Cash used in investing activity will remain same i.e. ¥ (2,88,000)
e Cash from financing activity will be ¥ 93,000
e Net decrease in cash and cash equivalents will be ¥ (55,000).

3. When short term provision is treated as provision for tax:
Net profit before tax and extraordinary items will be ¥ 1,50,000.

e Operating profit before working capital changes will be ¥ 2,90,000

e Cash generated from operations  1,40,000

e Tax paid off T 77,000 will be deducted for calculating cash from operating
activities.

e Cash from operating activities will be ¥ 63,000

e Cash used in investing activity will remain same i.e. ¥ (2,88,000)

e Cash from financing activity will be ¥ 1,70,000

e Net decrease in cash and cash equivalents will be ¥ (55,000).

29




4. |If short term provision is treated as provision for doubtful debts:

e Net profit before tax and extraordinary items will be ¥ 1,00,000.

e Operating profit before working capital changes will be ¥ 2,13,000.
e Cash from operating activities will be ¥ 63,000

e Cash used in investing activity will remain samei.e. ¥ (2,88,000)

e Cash from financing activity will be ¥ 1,70,000

e Net decrease in cash and cash equivalents will be X (55,000).

PART C
(Computerized Accounting)
19 |18 | 18 | Q. DBMS stands for.........ccccceeeenenncenns software.
Ans. 1 Mark
(c) Data Base Management System
18 | 19 | 19 | Q. Asequential.....cccceeeereencrrennnrrennnnn. names.
Ans. 1 Mark
(b) Numbers and letters are assigned in consecutive order.
21 |20 (22 | Q. WhyiiSit...ccorreemnnncciinnnennnnncceennnnns safety.
Ans.
To have an edge over competitors and avail first mover advantage it is necessary o maintain
secrecy and confidentiality. The tools which help to maintain secrecy are: (Any two)
1. Password security: Password is widely accepted security control to access the data.
Only the authorized person can access the data. Any user who does not know the
password cannot retrieve information from the system. It ensures data integrity. It
uses a binary encoding format of storage and offers access to the data base.
2. Data Audit: Audit feature of accounting software provides the user with
administrator right in order to keep track of unauthorized access to the data base .It 2x2
audit for the correctness of entries. Once entries are audited with adulterations, if a M=arks
any the software displays all entries along with the name of the auditor user and
date and time of alteration.
3. Data vault: Software provides additional security for the imputed data and this
feature is referred as data vault. Data vault ensures that original information is
presented and is not tempered. Data vault password cannot be broken. Some
software uses data encryption method.
22 121 | 20 | Q. Name.....uueeerennnniisssssissnns interest.
Ans. (Any four)
Tailored software
e Suitable for large organizations which have multiuse’s and geographically
scattered locations. =
. . - 4 Marks
e Require Specialties training to use.
e They form an important part of MIS of the organization.
e The secrecy and authenticity checks are robust.
e Offer high flexibility in terms of no. of users.
20 |22 |21 | Q.EXPlAiN .ceeeneirreeccrreec e, bill.
Ans.

A salary bill should
e Payroll related data such as employee No, Name, Allendance, Basic pay,
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applicable Dearness and other allowance, deductions to be made.

e Periodic payroll computations. These include calculation of various earnings 1x4
and deduction heads, which are to be derived from basic values as per the =
formulae. 4 Marks

e Preparation of salary statement employee salary slips.

e Generation of advice to bank which contains salary to be transformed to
individual bank account of employee.

23 Q. Name and explain........ccccceereennnnrneneee. error.
Ans.
The Error is #NUM! Error. Following steps can be taken to correct the error.
1. Optionally, click the cell that displays the error ,Click the button that appears,and -
then click show Calculation steps if it appears. 6 Marks

2. Review the following possible causes and solutions.
3. Using an unacceptable argument in a function that requires a numeric argument.
4. Make sure that arguments used in the function are numbers

Use a different starting value for worksheet function.
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